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Answers

1. 23,805

2. 42,347

3. 5,534

4. 19,300

5. 24,153

6. 29,826

7. 13,470

Solve each problem.

1) 99,485 - 75,680 =

23,805 23,885 24,485 29,485 99,485

-80 -600 -5,000 -70,000

2) 54,686 - 12,339 =

42,347 42,356 42,386 42,686 44,686 54,686

-9 -30 -300 -2,000 -10,000

3) 88,634 - 83,100 =

5,534 5,634 8,634 88,634

-100 -3,000 -80,000

4) 81,243 - 61,943 =

19,300 19,303 19,343 20,243 21,243 81,243

-3 -40 -900 -1,000 -60,000

5) 68,786 - 44,633 =

24,153 24,156 24,186 24,786 28,786 68,786

-3 -30 -600 -4,000 -40,000

6) 43,439 - 13,613 =

29,826 29,829 29,839 30,439 33,439 43,439

-3 -10 -600 -3,000 -10,000

7) 28,939 - 15,469 =

13,470 13,479 13,539 13,939 18,939 28,939

-9 -60 -400 -5,000 -10,000
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Solve each problem.

19,300 29,826 24,153 23,805

13,470 5,534 42,347

1) 99,485 - 75,680 =

99,485

-80 -600 -5,000 -70,000

2) 54,686 - 12,339 =

54,686

-9 -30 -300 -2,000 -10,000

3) 88,634 - 83,100 =

88,634

-100 -3,000 -80,000

4) 81,243 - 61,943 =

81,243

-3 -40 -900 -1,000 -60,000

5) 68,786 - 44,633 =

68,786

-3 -30 -600 -4,000 -40,000

6) 43,439 - 13,613 =

43,439

-3 -10 -600 -3,000 -10,000

7) 28,939 - 15,469 =

28,939

-9 -60 -400 -5,000 -10,000

Answers

1. 23,805

2. 42,347

3. 5,534

4. 19,300

5. 24,153

6. 29,826

7. 13,470
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